# Some new formulas of complete and incomplete degenerate Bell polynomials 

Dae San Kim¹, Taekyun Kim², Si-Hyeon Lee ${ }^{2}$ and Jin-Woo Park ${ }^{3 *}$

Correspondence:
a0417001@daegu.ac.kr
${ }^{3}$ Department of Mathematics Education, Daegu University, Daegu, Republic of Korea
Full list of author information is available at the end of the article


#### Abstract

The aim of this paper is to study the complete and incomplete degenerate Bell polynomials, which are degenerate versions of the complete and incomplete Bell polynomials, and to derive some properties and identities for those polynomials. In particular, we introduce some new polynomials associated with the incomplete degenerate Bell polynomials. In fact, they are the coefficients of the reciprocal of the power series given by 1 plus the one appearing as the exponent of the generating function of the complete degenerate Bell polynomials.


MSC: 11B73; 11B83
Keywords: Complete degenerate Bell polynomials; Incomplete degenerate Bell polynomials

## 1 Introduction

In recent years, we have seen that studying degenerate versions of many special polynomials and numbers, which was initiated in [2] by Carlitz, yielded very fruitful and interesting results. Especially, it is amusing to note that these studies are not just restricted to polynomials but also include transcendental functions like gamma functions.

The aim of this paper is to further study the complete and incomplete degenerate Bell polynomials (see (10), (12)) which are degenerate versions of the complete and incomplete Bell polynomials. In more detail, we deduce recurrence relations for them. As a corollary, we get a recurrence relation for the degenerate Stirling numbers of the second kind. We consider the problem of finding the reciprocal power series of the invertible formal power series which is equal to 1 plus the power series appearing as the exponent of the generating function of the complete degenerate Bell polynomials in (10). This leads us to introduce the new polynomials $T_{n, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right)$ (see (21)) that are associated with the incomplete degenerate Bell polynomials. As a corollary, this gives us an expression for the reciprocal of the degenerate exponential function $e_{\lambda}(a t)$. In addition, we obtain some identities regarding the degenerate Stirling numbers. For the rest of this section, we recall the facts that are needed throughout this paper.
© The Author(s) 2021. This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

For any $\lambda \in \mathbb{R}$, it is known that the degenerate exponential function is defined as

$$
\begin{equation*}
e_{\lambda}^{x}(t)=\sum_{n=0}^{\infty} \frac{(x)_{n, \lambda}}{n!} t^{n} \quad(\text { see }[2,6,8,12,14]) \tag{1}
\end{equation*}
$$

where $(x)_{0, \lambda}=1,(x)_{n, \lambda}=x(x-\lambda) \cdots(x-(n-1) \lambda),(n \geq 1)$.
In particular, for $x=1$, we write $e_{\lambda}(t)=e_{\lambda}^{1}(t)$.
In [10], the degenerate Bell polynomials are given by

$$
\begin{equation*}
e^{x\left(e_{\lambda}(t)-1\right)}=\sum_{n=0}^{\infty} \operatorname{Bel}_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{2}
\end{equation*}
$$

When $x=1, \operatorname{Bel}_{n, \lambda}=\operatorname{Bel}_{n, \lambda}(1)$ are called the degenerate Bell numbers. When $\lambda=1$, the falling factorial sequence is given by $(x)_{0}=1,(x)_{n}=(x)_{n, 1}=x(x-1) \cdots(x-n+1),(n \geq 1)$.
It is well known that the Stirling numbers of the first kind are defined by

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1}(n, l) x^{l} \quad(n \geq 0)(\text { see }[1,5,15]) . \tag{3}
\end{equation*}
$$

As the inversion formula of (3), the Stirling numbers of the second kind are defined as

$$
\begin{equation*}
x^{n}=\sum_{l=0}^{n} S_{2}(n, l)(x)_{l} \quad(n \geq 0)(\operatorname{see}[3,9,12,15]) \tag{4}
\end{equation*}
$$

Recently, the degenerate Stirling numbers of the first kind were given by

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1, \lambda}(n, l)(x)_{l, \lambda} \quad(n \geq 0)(\text { see }[9,15]) \tag{5}
\end{equation*}
$$

As the inversion formula of (5), the degenerate Stirling numbers of the second kind are defined by

$$
\begin{equation*}
(x)_{n, \lambda}=\sum_{l=0}^{n} S_{2, \lambda}(n, l)(x)_{l} \quad(n \geq 0)(\text { see }[6,7]) \tag{6}
\end{equation*}
$$

Here we recall that the degenerate Stirling numbers of the first kind and those of the second kind satisfy the orthogonality relations. Namely, they are related by the following:

$$
\begin{equation*}
\sum_{l=0}^{n} S_{2}(n, l) S_{1}(l, k)=\delta_{n, k}, \quad \sum_{l=0}^{n} S_{1}(n, l) S_{2}(l, k)=\delta_{n, k}, \tag{7}
\end{equation*}
$$

where $\delta_{n, k}$ is Kronecker's delta.
As is well known, the complete Bell polynomials are defined by

$$
\begin{equation*}
\exp \left(\sum_{i=1}^{\infty} x_{i} \frac{t^{i}}{i!}\right)=\sum_{n=0}^{\infty} B_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

where $B_{n}(1,1, \ldots, 1)=\operatorname{Bel}_{n},(n \geq 0)$, are the ordinary Bell numbers given by

$$
e^{e^{t}-1}=\sum_{n=0}^{\infty} \operatorname{Bel}_{n} \frac{t^{n}}{n!} \quad(\text { see }[3,4])
$$

For $k \geq 0$, the incomplete Bell polynomials are given by

$$
\begin{equation*}
\frac{1}{k!}\left(\sum_{i=1}^{\infty} x_{i} \frac{t^{i}}{i!}\right)^{k}=\sum_{n=k}^{\infty} B_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1} \frac{t^{n}}{n!}\right. \tag{9}
\end{equation*}
$$

where

$$
\begin{aligned}
& B_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \\
& \quad=\sum_{\substack{l_{1}+\cdots+l_{n-k+1}=k \\
l_{1}+2 l_{2}+\cdots+(n-k+1) l_{n-k+1}=n}} \frac{n!}{l_{1}!l_{2}!\cdots l_{n-k+1}!}\left(\frac{x_{1}}{1!}\right)^{l_{1}}\left(\frac{x_{2}}{2!}\right)^{l_{2}} \cdots\left(\frac{x_{n-k+1}}{(n-k+1)!}\right)^{l_{n-k+1}}, \\
& B_{n, k}(1,1, \ldots, 1)=S_{2}(n, k) \quad(n \geq k \geq 0)(\text { see }[3,4]) .
\end{aligned}
$$

In [10], the complete degenerate Bell polynomials are constructed by

$$
\begin{equation*}
\exp \left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)=\sum_{n=0}^{\infty} B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \frac{t^{n}}{n!}, \tag{10}
\end{equation*}
$$

where

$$
B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right)=\sum_{l_{1}+2 l_{2}+\cdots+n l_{n}=n} \frac{n!}{l_{1}!l_{2}!\cdots l_{n}!}\left(\frac{(1)_{1, \lambda} x_{1}}{1!}\right)^{l_{1}}\left(\frac{(1)_{2, \lambda} x_{2}}{2!}\right)^{l_{2}} \cdots\left(\frac{(1)_{n, \lambda} x_{n}}{n!}\right)^{l_{n}} .
$$

Note that

$$
\begin{equation*}
B_{n}^{(\lambda)}(1,1, \ldots, 1)=\operatorname{Bel}_{n, \lambda} \quad(n \geq 0)(\text { see }[7,9-11]) . \tag{11}
\end{equation*}
$$

In the light of (9), the incomplete degenerate Bell polynomials are given by

$$
\begin{equation*}
\frac{1}{k!}\left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)^{k}=\sum_{n=k}^{\infty} B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \frac{t^{n}}{n!} \tag{12}
\end{equation*}
$$

where

$$
\begin{aligned}
& B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \\
& =\sum_{\substack{l_{1}+\cdots+l_{n-k+1}=k \\
l_{1}+2 l_{2}+\cdots+(n-k+1) l_{n-k+1}=n}} \frac{n!}{l_{1}!l_{2}!\cdots\left(l_{n-k+1}\right)!} \\
& \quad \times\left(\frac{(1)_{1, \lambda} x_{1}}{1!}\right)^{l_{1}}\left(\frac{(1)_{2, \lambda} x_{2}}{2!}\right)^{l_{2}} \cdots\left(\frac{(1)_{n-k+1, \lambda} x_{n-k+1}}{(n-k+1)!}\right)^{l_{n-k+1}},
\end{aligned}
$$

and

$$
B_{0,0}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n+1}\right)=1, \quad B_{n, 0}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n+1}\right)=0 \quad(n \in \mathbb{N})(\text { see }[11,13])
$$

From (12), we note that

$$
\begin{equation*}
B_{n, k}^{(\lambda)}(1,1, \ldots, 1)=S_{2, \lambda}(n, k) \quad(n, k \geq 0)(\text { see }[11,13]) \tag{13}
\end{equation*}
$$

Now, we observe that

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n} \frac{t^{n}}{n!}\right. & =\exp \left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)  \tag{14}\\
& =\sum_{k=0}^{\infty} \frac{1}{k!}\left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)^{k} \\
& =\sum_{k=0}^{\infty} \sum_{n=k}^{\infty} B_{n, k}^{(\lambda)}\left(x_{1}, \ldots, x_{n-k+1}\right) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)\right) \frac{t^{n}}{n!}
\end{align*}
$$

By comparing the coefficients on both sides of (14), we get

$$
\begin{equation*}
B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right)=\sum_{k=0}^{n} B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \quad(n \geq 0)(\text { see }[9,11,13]) \tag{15}
\end{equation*}
$$

## 2 Complete and incomplete degenerate Bell polynomials

From (10), we note that

$$
\begin{align*}
\exp \left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right) & =\sum_{n=0}^{\infty} B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \frac{t^{n}}{n!}  \tag{16}\\
& =1+\sum_{n=1}^{\infty} B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Taking the derivative with respect to $t$ on both sides of (16), we have

$$
\begin{align*}
\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i-1}}{(i-1)!} \exp \left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right) & =\sum_{n=1}^{\infty} B_{n}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \frac{t^{n-1}}{(n-1)!}  \tag{17}\\
& =\sum_{n=0}^{\infty} B_{n+1}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n+1}\right) \frac{t^{n}}{n!}
\end{align*}
$$

On the other hand,

$$
\begin{equation*}
\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i-1}}{(i-1)!} \exp \left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right) \tag{18}
\end{equation*}
$$

$$
\begin{aligned}
& =\sum_{i=0}^{\infty}(1)_{i+1, \lambda} x_{i+1} \frac{t^{i}}{i!} \sum_{l=0}^{\infty} B_{l}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{l}\right) \frac{t^{l}}{l!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{i=0}^{n}\binom{n}{i}(1)_{i+1, \lambda} x_{i+1} B_{n-i}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-i}\right)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Therefore, by (17) and (18), we obtain the following theorem.

Theorem 1 For $n \geq 0$, we have

$$
B_{n+1}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n+1}\right)=\sum_{i=0}^{n}\binom{n}{i}(1)_{i+1, \lambda} x_{i+1} B_{n-i}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-i}\right) .
$$

For $k, n \in \mathbb{Z}$ with $n \geq k \geq 1$, taking the derivative with respect to $t$ on both sides of (12), we get

$$
\begin{align*}
& \sum_{n=k}^{\infty} B_{n, k}^{(\lambda)}\left(x_{1}, \ldots, x_{n-k+1}\right) \frac{t^{n-1}}{(n-1)!} \\
& \quad=\frac{1}{(k-1)!}\left(\sum_{i=0}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)^{k-1} \sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i-1}}{(i-1)!}  \tag{19}\\
& \quad=\sum_{l=k-1}^{\infty} B_{l, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{l-k+2}\right) \frac{t^{l}}{l!} \sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i-1}}{(i-1)!} \\
& \quad=\sum_{n=k}^{\infty} \sum_{i=1}^{n-k+1}\binom{n-1}{i-1}(1)_{i, \lambda} x_{i} B_{n-i, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{n-i-k+2}\right) \frac{t^{n-1}}{(n-1)!} \\
& \quad=\sum_{n=k}^{\infty} \sum_{i=0}^{n-k}\binom{n-1}{i}(1)_{i+1, \lambda} x_{i+1} B_{n-1-i, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{n-i-k+1}\right) \frac{t^{n-1}}{(n-1)!}
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of (19), we obtain the following theorem.

Theorem 2 For $k, n \in \mathbb{Z}$ with $n \geq k \geq 1$, we have

$$
B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)=\sum_{i=0}^{n-k}\binom{n-1}{i}(1)_{i+1, \lambda} x_{i+1} B_{n-1-i, k-1}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-i-k+1}\right) .
$$

Recalling (13), we obtain the following corollary.

Corollary 3 For $n, k \in \mathbb{Z}$ with $n \geq k \geq 1$, we have

$$
S_{2, \lambda}(n, k)=\sum_{i=0}^{n-k}\binom{n-1}{i}(1)_{i+1, \lambda} S_{2, \lambda}(n-1-i, k-1)
$$

We need the following lemma for the next result, which is stated without proof in [3, p. 136].

Lemma 4 For $n, k \in \mathbb{Z}$ with $n \geq k \geq 1$, we have

$$
\begin{aligned}
B_{n, k}^{(\lambda)}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) & =\frac{1}{k} \sum_{l=k-1}^{n-1}\binom{n}{l}(1)_{n-l, \lambda} x_{n-l} B_{l, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{l-k+2}\right) \\
& =\frac{1}{k} \sum_{l=0}^{n-k}\binom{n}{l+1}(1)_{l+1, \lambda} x_{l+1} B_{n-l-1, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{n-l-k+1}\right) .
\end{aligned}
$$

Proof From (12), we see that

$$
\begin{aligned}
\sum_{n=k}^{\infty} B_{n, k}^{(\lambda)}\left(x_{1}, \ldots, x_{n-k+1} \frac{t^{n}}{n!}\right. & =\frac{1}{k} \frac{1}{(k-1)!}\left(\sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}\right)^{k-1} \sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!} \\
& =\frac{1}{k} \sum_{l=k-1}^{\infty} B_{l, k-1}^{(\lambda)}\left(x_{1}, \ldots, x_{l-k+2}\right) \frac{t^{l}}{l!} \sum_{i=1}^{\infty}(1)_{i, \lambda} x_{i} \frac{t^{i}}{i!}
\end{aligned}
$$

from which the first identity follows.
The second identity is deduced from the first by replacing $l$ by $n-1-l$.

For a given formal power series $\sum_{l=0}^{\infty}(1)_{l, \lambda} a_{l} \frac{t^{l}}{l!}$, with $a_{0}=1$, we want to determine the reciprocal power series $\sum_{m=0}^{\infty}(1)_{m, \lambda} b_{m} \frac{t^{m}}{m!}$ satisfying $\sum_{l=0}^{\infty}(1)_{l, \lambda} a_{l} \frac{t^{l}}{l!} \sum_{m=0}^{\infty}(1)_{m, \lambda} b_{m} \frac{t^{m}}{m!}=1$.

Theorem 5 Assume $\sum_{l=0}^{\infty}(1)_{l, \lambda} a_{l} \frac{t^{l}}{l!} \sum_{m=0}^{\infty}(1)_{m, \lambda} b_{m} \frac{t^{m}}{m!}=1$, with $a_{0}=1$. Then we have

$$
\begin{align*}
& (1)_{0, \lambda} b_{0}=1 \\
& (1)_{n, \lambda} b_{n}=\sum_{k=1}^{n} B_{n, k}^{(\lambda)}\left(a_{1}, \ldots, a_{n-k+1}\right)(-1)^{k} k!\quad(n \geq 1) . \tag{20}
\end{align*}
$$

In other words, we have

$$
\frac{1}{1+a_{1}(1)_{1, \lambda} \frac{t}{1!}+a_{2}(1)_{2, \lambda} \frac{t^{2}}{2!}+a_{3}(1)_{3, \lambda} \frac{t^{3}}{3!}+\cdots}=\sum_{n=0}^{\infty} T_{n, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right) \frac{t^{n}}{n!}
$$

where the new polynomials $T_{n, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right)(n \geq 0)$, associated with the incomplete degenerate Bell polynomials, are defined by

$$
\begin{align*}
& T_{n, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right)=\sum_{k=1}^{n} B_{n, k}^{(\lambda)}\left(a_{1}, a_{2}, \ldots, a_{n-k+1}\right)(-1)^{k} k!\quad(n \geq 1)  \tag{21}\\
& T_{0, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right)=1
\end{align*}
$$

Proof We observe first that $1=\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n}\binom{n}{l}(1)_{l, \lambda} a_{l}(1)_{n-l, \lambda} b_{n-l}\right) \frac{t^{n}}{n!}$. Thus we have

$$
\begin{equation*}
(1)_{0, \lambda} b_{0}=1, \quad \sum_{l=0}^{n}\binom{n}{l}(1)_{l, \lambda} a_{l}(1)_{n-l, \lambda} b_{n-l}=0 \quad(n \geq 1) . \tag{22}
\end{equation*}
$$

We show the identity in (20) by induction on $n \geq 1$. From (22), we note that

$$
\begin{equation*}
(1)_{n, \lambda} b_{n}=-\sum_{l=1}^{n}\binom{n}{l}(1)_{l, \lambda} a_{l}(1)_{n-l, \lambda} b_{n-l} . \tag{23}
\end{equation*}
$$

If $n=1$, we note from (23) that $(1)_{1, \lambda} b_{1}=-(1)_{1, \lambda} a_{1}=\sum_{k=1}^{1} B_{1, k}^{(\lambda)}\left(a_{1}\right)(-1)^{k} k$ !.
Assume that $n>1$ and that (20) holds for all positive integers smaller than $n$. From (23) and Lemma 4, we have

$$
\begin{aligned}
(1)_{n, \lambda} b_{n} & =-\sum_{l=1}^{n}\binom{n}{l}(1)_{l, \lambda} a_{l}(1)_{n-l, \lambda} b_{n-l} \\
& =-\sum_{l=1}^{n-1}\binom{n}{l}(1)_{l, \lambda} a_{l} \sum_{k=1}^{n-l} B_{n-l, k}^{(\lambda)}\left(a_{1}, \ldots, a_{n-l-k+1}\right)(-1)^{k} k!-(1)_{n, \lambda} a_{n} \\
& =-\sum_{k=1}^{n-1}(-1)^{k} k!\sum_{l=1}^{n-k}\binom{n}{l}(1)_{l, \lambda} a_{l} B_{n-l, k}^{(\lambda)}\left(a_{1}, \ldots, a_{n-l-k+1}\right)-(1)_{n, \lambda} a_{n} \\
& =-\sum_{k=1}^{n}(-1)^{k-1}(k-1)!\sum_{l=0}^{n-k}\binom{n}{l+1}(1)_{l+1, \lambda} a_{l+1} B_{n-l-1, k-1}^{(\lambda)}\left(a_{1}, \ldots, a_{n-l-k+1}\right) \\
& =\sum_{k=1}^{n}(-1)^{k} k!\frac{1}{k} \sum_{l=0}^{n-k}\binom{n}{l+1}(1)_{l+1, \lambda} a_{l+1} B_{n-l-1, k-1}^{(\lambda)}\left(a_{1}, \ldots, a_{n-l-k+1}\right) \\
& =\sum_{k=1}^{n}(-1)^{k} k!B_{n, k}^{(\lambda)}\left(a_{1}, \ldots, a_{n-k+1}\right) .
\end{aligned}
$$

Letting $a_{i}=a^{i}$ for all integers $i \geq 0$, we obtain the following corollary.

Corollary 6 The following identity holds true:

$$
\begin{aligned}
\frac{1}{e_{\lambda}(a t)} & =\sum_{k=0}^{\infty} T_{k, \lambda}\left(a^{1}, a^{2}, \ldots, a^{k}\right) \frac{t^{k}}{k!} \\
& =1+\sum_{k=1}^{\infty}\left(\sum_{l=1}^{k} B_{k, l}^{(\lambda)}\left(a^{1}, a^{2}, \ldots, a^{k-l+1}\right)(-1)^{l} l!\right) \frac{t^{k}}{k!}
\end{aligned}
$$

From (6), we can easily derive the following equation:

$$
\begin{equation*}
\frac{1}{k!}\left(e_{\lambda}(t)-1\right)^{k}=\sum_{n=k}^{\infty} S_{2, \lambda}(n, k) \frac{t^{n}}{n!} \quad(k \geq 0) \tag{24}
\end{equation*}
$$

Now, we observe that

$$
\begin{align*}
e_{-\lambda}(t)-1 & =e_{\lambda}^{-1}(-t)-1=\frac{1}{e_{\lambda}(-t)}\left(1-e_{\lambda}(-t)\right) \\
& =\frac{1-e_{\lambda}(-t)}{1-\left(1-e_{\lambda}(-t)\right)}=\sum_{k=1}^{\infty}\left(1-e_{\lambda}(-t)\right)^{k} \tag{25}
\end{align*}
$$

$$
\begin{aligned}
& =\sum_{k=1}^{\infty}(-1)^{k}\left(e_{\lambda}(-t)-1\right)^{k}=\sum_{k=1}^{\infty}(-1)^{k} k!\frac{1}{k!}\left(e_{\lambda}(-t)-1\right)^{k} \\
& =\sum_{k=1}^{\infty}(-1)^{k} k!\sum_{n=k}^{\infty} S_{2, \lambda}(n, k)(-1)^{n} \frac{t^{n}}{n!} \\
& =\sum_{n=1}^{\infty}\left(\sum_{k=1}^{n}(-1)^{k} k!(-1)^{n} S_{2, \lambda}(n, k)\right) \frac{t^{n}}{n!}
\end{aligned}
$$

On the other hand

$$
\begin{equation*}
e_{-\lambda}(t)-1=\sum_{n=0}^{\infty}(1)_{n,-\lambda} \frac{t^{n}}{n!}-1=\sum_{n=1}^{\infty}(1)_{n,-\lambda} \frac{t^{n}}{n!} . \tag{26}
\end{equation*}
$$

From (25) and (26), we note that

$$
\begin{equation*}
\sum_{k=1}^{n}(-1)^{n-k} k!S_{2, \lambda}(n, k)=(1)_{n,-\lambda} \quad(n \geq 1) \tag{27}
\end{equation*}
$$

The rising $\lambda$-factorial sequence is defined by

$$
\begin{equation*}
\langle x\rangle_{0, \lambda}=1, \quad\langle x\rangle_{n, \lambda}=x(x+\lambda)(x+2 \lambda) \cdots(x+(n-1) \lambda) \quad(n \geq 1),(\text { see }[7]) \tag{28}
\end{equation*}
$$

Therefore, by (27) and (28), we obtain the following theorem, the second of which follows from the orthogonality relations in (7) for the degenerate Stirling numbers.

Theorem 7 For $n \in \mathbb{N}$, we have

$$
\sum_{k=1}^{n}(-1)^{n-k} k!S_{2, \lambda}(n, k)=\langle 1\rangle_{n, \lambda}, \quad \sum_{k=1}^{n}(-1)^{n-k}\langle 1\rangle_{k, \lambda} S_{1, \lambda}(n, k)=n!.
$$

Note that

$$
\begin{align*}
T_{n, \lambda}(1,1, \ldots, 1) & =\sum_{k=1}^{n} B_{n, k}^{(\lambda)}(1,1, \ldots, 1)(-1)^{k} k! \\
& =\sum_{k=1}^{n} S_{2, \lambda}(n, k)(-1)^{k} k!  \tag{29}\\
& =(-1)^{n} \sum_{k=1}^{n} S_{2, \lambda}(n, k)(-1)^{n-k} k! \\
& =(-1)^{n}\langle 1\rangle_{n, \lambda} \quad(n \geq 1)
\end{align*}
$$

Therefore, by (29), we obtain the following corollary.
Corollary 8 For $n \in \mathbb{N}$, we have

$$
T_{n, \lambda}(1,1, \ldots, 1)=(-1)^{n}\langle 1\rangle_{n, \lambda}
$$

## 3 Conclusion

In recent years, we have seen that degenerate versions of many special polynomials and numbers were investigated by means of various different tools like generating functions, combinatorial methods, umbral calculus techniques, probability theory, $p$-adic analysis, special functions, analytic number theory and differential equations. Studying them has been rewarding; yielding many interesting results not only in combinatorics and number theory but also in probability, differential equations and symmetric identities. Moreover, they have potential applications in engineering and the sciences.
In this paper, we studied the complete and incomplete degenerate Bell polynomials which are degenerate versions of the complete and incomplete Bell polynomials and obtained some identities and properties as to such polynomials. Above all, we considered the problem of finding the reciprocal power series of the invertible formal power series which is equal to 1 plus the power series appearing as the exponent of the generating function of the complete degenerate Bell polynomials. This led us to introduce the new polynomials $T_{n, \lambda}\left(a_{1}, a_{2}, \ldots, a_{n}\right)$ that are associated with the incomplete degenerate Bell polynomials. As a corollary, this gave us an expression for the reciprocal of the degenerate exponential function $e_{\lambda}(a t)$.
It is one of our future projects to continue to explore various degenerate versions of some special polynomials and numbers and to find many applications in mathematics, science and engineering.

## Funding

This research was supported by the Daegu University Research Grant, 2020

## Availability of data and materials

Not applicable

## Competing interests

The authors declare that they have no competing interests

## Authors' contributions

TK and DSK conceived of the framework and structured the whole paper; TK and DSK wrote the paper; DSK completed the revision of the article; JWP and SHL checked the errors of the article. All authors have read and agreed to the published version of the manuscript.

## Author details

${ }^{1}$ Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea. ${ }^{2}$ Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea. ${ }^{3}$ Department of Mathematics Education, Daegu University, Daegu, Republic of Korea

## Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.
Received: 14 May 2021 Accepted: 10 June 2021 Published online: 10 July 2021

## References

1. Araci, S.: A new class of Bernoulli polynomials attached to polyexponential functions and related identities. Adv. Stud. Contemp. Math. (Kyungshang) 31(2), 195-204 (2021)
2. Carlitz, L.: Degenerate Stirling, Bernoulli and Eulerian numbers. Util. Math. 15, 51-88 (1979)
3. Comtet, L.: Advanced Combinatorics, the Art of Finite and Infinite Expansions, Revised and enlarged edn. Reidel, Dordrecht (1974)
4. Cvijović, D.: New identities for the partial Bell polynomials. Appl. Math. Lett. 24(9), 1544-1547 (2011)
5. Gun, D., Simsek, Y.: Combinatorial sums involving Stirling, Fubini, Bernoulli numbers and approximate values of Catalan numbers. Adv. Stud. Contemp. Math. (Kyungshang) 30(4), 503-513 (2020)
6. Kim, D.S., Kim, T.: A note on a new type of degenerate Bernoulli numbers. Russ. J. Math. Phys. 27(2), 227-235 (2020)
7. Kim, D.S., Kim, T.: Degenerate zero-truncated Poisson random variables. Russ. J. Math. Phys. 28(1), 66-72 (2021)
8. Kim, H.K., Baek, H., Lee, D.S.: A note on truncated degenerate exponential polynomials. Proc. Jangjeon Math. Soc. 24(1), 63-76 (2021)
9. Kim, T.: Degenerate complete Bell polynomials and numbers. Proc. Jangjeon Math. Soc. 20(4), 533-543 (2017)
10. Kim, T., Kim, D.S., Dolgy, D.V.: On partially degenerate Bell numbers and polynomials. Proc. Jangjeon Math. Soc. 20(3), 337-345 (2017)
11. Kim, T., Kim, D.S., Jang, L.--C., Lee, H., Kim, H.-Y.: Complete and incomplete Bell polynomials associated with Lah-Bell numbers and polynomials. Adv. Differ. Equ. 2021, Article ID 101 (2021)
12. Kim, T., Kim, D.S., Jang, L.-C., Lee, H., Kim, H.-Y.: Generalized degenerate Bernoulli numbers and polynomials arising from Gauss hypergeometric function. Adv. Differ. Equ. 2021, Article ID 175 (2021)
13. Kölbig, K.S., Strampp, W.: Some infinite integrals with powers of logarithms and the complete Bell polynomials. J. Comput. Appl. Math. 69(1), 39-47 (1996)
14. Kwon, J., Kim, T., Kim, D.S., Kim, H.Y:: Some identities for degenerate complete and incomplete $r$-Bell polynomials. J. Inequal. Appl. 2020, Article ID 23 (2020)
15. Roman, S.: The Umbral Calculus. Pure and Applied Mathematics, vol. 111. Academic Press, New York (1984)

## Submit your manuscript to a SpringerOpen ${ }^{\bullet}$ journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article

